

ON THE RECURRENCES OF THE JACOBSTHAL SEQUENCE

ORHAN DIŞKAYA and HAMZA MENKEN

**Abstract.** In the present work, two new recurrences of the Jacobsthal sequence are defined. Some identities of these sequences which we call the Jacobsthal array is examined. Also, the generating and series functions of the Jacobsthal array are obtained.

**MSC 2020.** 11B39, 05A15, 11B83.

**Key words.** Fibonacci numbers, Jacobsthal Numbers, Binet like formula, generating function, series, sums.

1. INTRODUCTION

The Fibonacci sequence, one of the most famous number sequences in mathematics, has many applications. It has also undergone many generalizations until today. One of these generalizations is the Jacobsthal sequence. The Jacobsthal numbers are an integer sequence named after the German mathematician Ernst Jacobsthal. The Jacobsthal sequence is an additive sequence similar to the Fibonacci sequence, have many interesting properties and applications to almost every fields of science, nature and art. The Jacobsthal sequence has charming applications to combinatorics, graph theory, and number theory. There are many studies on the Jacobsthal sequence and its generations (for details see [1, 5–12, 14, 15, 17–20]). The Jacobsthal sequence  $\{J_n\}_{n \geq 0}$  is defined by the initial values  $J_0 = 0$  and  $J_1 = 1$  and the recurrence relation

$$(1) \quad J_{n+2} = J_{n+1} + 2J_n, \quad n \geq 0.$$

The first few terms of this sequence are 0, 1, 1, 3, 5, 11, 21, 43, 85, 171, 341.

The relation (1) involves the characteristic equation

$$(2) \quad x^2 - x - 2 = 0$$

with roots

$$(3) \quad \alpha = 2 \quad \text{and} \quad \beta = -1$$

so that,

$$(4) \quad \alpha + \beta = 1, \quad \alpha - \beta = 3 \quad \text{and} \quad \alpha\beta = -2.$$

---

The authors thank the referee for his helpful comments and suggestions.

Corresponding author: Hamza Menken.

The Binet formula of the Jacobsthal sequence is

$$(5) \quad J_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}.$$

The Cassini-like formula of the Jacobsthal numbers is given [10] by

$$(6) \quad J_{n+1}J_{n-1} - J_n^2 = -(-2)^{n-1}.$$

Some identities of the Jacobsthal numbers are as follows ( see [3, 4, 13, 16]):

$$(7) \quad J_{m+n} = J_m J_{n+1} + 2J_{m-1} J_n$$

$$(8) \quad J_{2n} = J_n J_{n+1} + 2J_{n-1} J_n$$

$$(9) \quad J_{2n+1} = J_{n+1}^2 + 2J_n^2.$$

## 2. RECURRENCES OF THE JACOBSTHAL SEQUENCE

A Fibonacci array was defined in [2] by Carlitz and some of their identities were examined. In this section, we defined the recurrences of the Jacobsthal sequence and examined their some properties.

A Jacobsthal array  $\{j_{m,n}\}_{m \geq 0, n \geq 0}$  is defined by the two recurrences

$$(10) \quad j_{m,n} = j_{m,n-1} + 2j_{m,n-2}, \quad n \geq 2$$

$$(11) \quad j_{m,n} = j_{m-1,n} + 2j_{m-2,n}, \quad m \geq 2,$$

where

$$(12) \quad j_{0,n} = J_n, \quad j_{1,n} = J_{n+2}$$

are the 0-th and 1-th rows of the Jacobsthal array, respectively.

The following table is readily computed:

$m \setminus n$	0	1	2	3	4	5	6	7
0	0	1	1	3	5	11	21	43
1	1	3	5	11	21	43	85	171
2	1	5	7	17	31	65	127	257
3	3	11	17	39	73	151	297	599
4	5	21	31	73	135	281	451	1013
5	11	43	65	151	281	583	1145	2311
6	21	85	127	297	451	1145	2047	4337
7	43	171	257	599	1013	2311	4337	8959

Table 1 – The first few members of the Jacobsthal array

As it can be seen from the table, the symmetry property

$$j_{m,n} = j_{n,m}$$

is readily proved by making use of (10) and (11).

PROPOSITION 2.1. *The following identity is valid:*

$$(13) \quad j_{m,n} = 2J_{m-1}J_n + J_mJ_{n+2}.$$

*Proof.* The relationship of the Jacobsthal arrays with the Jacobsthal number is obtained by using (11) and (12).  $\square$

THEOREM 2.2. *The Binet-like formula for the Jacobsthal array is*

$$j_{m,n} = \frac{5\alpha^{m+n} - 2\alpha^m\beta^n - 2\alpha^n\beta^m - \beta^{m+n}}{9}.$$

*Proof.* Considering (3), (4), (5) and (13) we write

$$\begin{aligned} j_{m,n} &= 2J_{m-1}J_n + J_mJ_{n+2} \\ &= 2 \left( \frac{\alpha^{m-1} - \beta^{m-1}}{\alpha - \beta} \right) \left( \frac{\alpha^n - \beta^n}{\alpha - \beta} \right) + \left( \frac{\alpha^m - \beta^m}{\alpha - \beta} \right) \left( \frac{\alpha^{n+2} - \beta^{n+2}}{\alpha - \beta} \right) \\ &= 2 \left( \frac{\alpha^{m+n-1} - \alpha^{m-1}\beta^n - \alpha^n\beta^{m-1} + \beta^{m+n-1}}{9} \right) \\ &\quad + \left( \frac{\alpha^{m+n+2} - \alpha^m\beta^{n+2} - \alpha^{n+2}\beta^m + \beta^{m+n+2}}{9} \right) \\ &= \left( \frac{\alpha^{m+n} - \alpha^m\beta^n + 2\alpha^n\beta^m - 2\beta^{m+n}}{9} \right) \\ &\quad + \left( \frac{4\alpha^{m+n} - \alpha^m\beta^n - 4\alpha^n\beta^m + \beta^{m+n}}{9} \right) \\ &= \frac{5\alpha^{m+n} - 2\alpha^m\beta^n - 2\alpha^n\beta^m - \beta^{m+n}}{9}. \end{aligned}$$

$\square$

PROPOSITION 2.3. *The following identities are valid:*

1.  $j_{m+1,m-1} - j_{m,m} = (-2)^m$ ,
2.  $j_{m,n} = J_{m+n} + 2J_mJ_n$ ,
3.  $j_{n,n} = J_{2n} + 2J_n^2$ ,
4.  $j_{n+1,n} = J_{2n+1} + 2J_{n+1}J_n$ .

*Proof.* 1. Considering (13) and (6) we have

$$\begin{aligned} j_{m+1,m-1} - j_{m,m} &= 2J_mJ_{m-1} + J_{m+1}J_{m+1} - 2J_{m-1}J_m - J_mJ_{m+2} \\ &= J_{m+1}J_{m+1} - J_mJ_{m+2} \\ &= (-2)^m. \end{aligned}$$

2. Considering (13) and (7) we get

$$\begin{aligned} j_{m,n} &= 2J_{m-1}J_n + J_mJ_{n+2} \\ &= 2J_{m-1}J_n + J_m(J_{n+1} + 2J_n) \\ &= J_{m+n} + 2J_mJ_n. \end{aligned}$$

3. Considering (13) and (8), for  $m = n$ , the identity is proved.
4. Considering (13) and (9), for  $m = n + 1$ , the identity is obtained.

□

THEOREM 2.4. *The generating function of the Jacobsthal array is*

$$G_j(x) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} j_{m,n} x^n y^m = \frac{xy + y + x}{(1 - x - 2x^2)(1 - y - 2y^2)}.$$

*Proof.* Let

$$j_m(x) = \sum_{n=0}^{\infty} j_{m,n} x^n.$$

In particular, it follows from (12) that

$$(14) \quad \begin{aligned} j_0(x) &= \sum_{n=0}^{\infty} j_{0,n} x^n = \sum_{n=0}^{\infty} J_n x^n = \frac{x}{1 - x - 2x^2}, \\ j_1(x) &= \sum_{n=0}^{\infty} j_{1,n} x^n = \sum_{n=0}^{\infty} J_{n+2} x^n = \frac{2x + 1}{1 - x - 2x^2}, \end{aligned}$$

and by (11) we have also

$$(15) \quad j_m(x) = j_{m-1}(x) + 2j_{m-2}(x).$$

Using (14) and (15), we prove easily that

$$j_m(x) = \sum_{n=0}^{\infty} j_{m,n} x^n = \frac{(x+1)J_m + xJ_{m+1}}{1 - x - 2x^2}.$$

So,

$$\begin{aligned} G_j(x) &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} j_{m,n} x^n y^m \\ &= \frac{x+1}{1-x-2x^2} \sum_{m=0}^{\infty} J_m y^m + \frac{x}{1-x-2x^2} \sum_{m=0}^{\infty} J_{m+1} y^m \\ &= \frac{xy + y + x}{(1-x-2x^2)(1-y-2y^2)}. \end{aligned}$$

□

THEOREM 2.5. *The Jacobsthal array series is*

$$S_j(x) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{j_{m,n}}{x^n y^m} = \frac{x^2 y + xy + xy^2}{(x^2 - x - 2)(y^2 - y - 2)}.$$

*Proof.* Let

$$j_m(x) = \sum_{n=0}^{\infty} \frac{j_{m,n}}{x^n}.$$

In particular, it follows from (12) that

$$(16) \quad \begin{aligned} j_0(x) &= \sum_{n=0}^{\infty} \frac{j_{0,n}}{x^n} = \sum_{n=0}^{\infty} \frac{J_n}{x^n} = \frac{x}{x^2 - x - 2}, \\ j_1(x) &= \sum_{n=0}^{\infty} \frac{j_{1,n}}{x^n} = \sum_{n=0}^{\infty} \frac{J_{n+2}}{x^n} = \frac{x^2 + 2x}{x^2 - x - 2}, \end{aligned}$$

and by (11) we have also

$$(17) \quad j_m(x) = j_{m-1}(x) + 2j_{m-2}(x).$$

Using (16) and (17), we prove easily that

$$j_m(x) = \sum_{n=0}^{\infty} \frac{j_{m,n}}{x^n} = \frac{(x^2 + x)J_m + xJ_{m+1}}{x^2 - x - 2}.$$

So,

$$\begin{aligned} S_j(x) &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{j_{m,n}}{x^n y^m} = \frac{x^2 + x}{x^2 - x - 2} \sum_{m=0}^{\infty} \frac{J_m}{y^m} + \frac{x}{x^2 - x - 2} \sum_{m=0}^{\infty} \frac{J_{m+1}}{y^m} \\ &= \frac{x^2 y + xy + xy^2}{(x^2 - x - 2)(y^2 - y - 2)}. \end{aligned}$$

□

**THEOREM 2.6.** *The following equation is valid.*

$$T_j = \sum_{t=0}^m \sum_{k=0}^n j_{t,k} = \frac{2J_{n+2}J_{m+1} - 2J_{m+1} + J_{n+4}J_{m+2} - J_{n+4} - 3J_{m+2}}{4}.$$

*Proof.* Considering (13)

$$\begin{aligned} T_j &= 2 \sum_{t=0}^m J_{t-1} \sum_{k=0}^n J_k + \sum_{t=0}^m J_t \sum_{k=0}^n J_{k+2} \\ &= (J_{n+2} - 1) \sum_{t=0}^m J_{t-1} + \frac{J_{n+4} - 3}{2} \sum_{t=0}^m J_t \\ &= (J_{n+2} - 1) \left( \frac{J_{m+1}}{2} \right) + \left( \frac{J_{n+4} - 3}{2} \right) \left( \frac{J_{m+2} - 1}{2} \right) \\ &= \frac{2J_{n+2}J_{m+1} - 2J_{m+1} + J_{n+4}J_{m+2} - J_{n+4} - 3J_{m+2}}{4} \end{aligned}$$

takes place.

□

## REFERENCES

- [1] M. Asci and E. Gurel, *Gaussian Jacobsthal and Gaussian Jacobsthal Lucas polynomials*, Notes Number Theory Discrete Math., **19** (2013), 25–36.
- [2] L. Carlitz, *A Fibonacci Array*, Fibonacci Quart., **2** (1963), 17–28.
- [3] C. B. Çimen and A. İpek, *On Jacobsthal and Jacobsthal-Lucas Octonions*, Mediterranean J. Math., **14** (2017), 1–13.
- [4] A. Dasdemir, *On the Jacobsthal numbers by matrix method*, Süleyman Demirel Üniversitesi Fen-Edebiyat Fakültesi Fen Bilimleri Dergisi, **7** (2012), 69–76.
- [5] Ö. Deveci and G. Artun, *On the adjacency-Jacobsthal numbers*, Comm. Algebra, **47**(11) (2019), 4520-4532.
- [6] O. Diskaya and H. Menken, *On the Quadra Fibona-Pell and Hexa Fibona-Pell-Jacobsthal Sequences*, Math. Sci. Appl. E-Notes, **7** (2019), 149–160.
- [7] O. Diskaya and H. Menken, *On the Jacobsthal and Jacobsthal-Lucas Subscripts*, J. Algebra Comput. Appl., **8** (2019), 1–6.
- [8] G. B. Djordjevic and H. M. Srivastava, *Incomplete generalized Jacobsthal and Jacobsthal-Lucas numbers*, Math. Comput. Modelling, **42** (2005), 1049–1056.
- [9] A. Gnanam and B. Anitha, *Negative Jacobsthal Numbers*, International Journal of Science, Engineering and Technology Research, **5** (2016), 664–665.
- [10] A. F. Horadam, *Jacobsthal representation numbers*, Fibonacci Quart., **34** (1996), 40–54.
- [11] A. F. Horadam, *Negative subscript Jacobsthal numbers*, Notes Number Theory Discrete Math., **3** (1997), 9–22.
- [12] C. Kızılateş, *On the Quadra Lucas-Jacobsthal Numbers*, Karaelmas Fen ve Mühendislik Dergisi, **7** (2017), 619–621.
- [13] F. Koken and D. Bozkurt, *On the Jacobsthal-Lucas numbers by matrix methods*, Int. J. Contemp. Math. Sci., **3** (2008), 1629–1633.
- [14] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Volume 1, John Wiley & Sons, New Jersey, 2018.
- [15] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Volume 2, John Wiley & Sons, New Jersey, 2019.
- [16] A. Szynal-Liana and I. Wloch, *A note on Jacobsthal quaternions*, Adv. Appl. Clifford Algebr., **26** (2016), 441–447.
- [17] A. Szynal-Liana and I. Wloch, *A note on Jacobsthal quaternions*, Adv. Appl. Clifford Algebr., **26** (2016), 441–447.
- [18] D. Tasci, *On  $k$ -Jacobsthal and  $k$ -Jacobsthal-Lucas quaternions*, J. Sci. Arts, **17** (2017), 469–476.
- [19] M. Tastan and E. Özkan, *Catalan transform of the  $k$ -jacobsthal sequence*, Electron. J. Math. Anal. Appl., **8** (2020), 70–74.
- [20] F. Yilmaz and D. Bozkurt, *The generalized order- $k$  Jacobsthal numbers*, Int. J. Contemp. Math. Sci., **4** (2009), 1685–1694.

Received September 7, 2021

Accepted February 28, 2022

Mersin University

Department of Mathematics

Mersin, Turkey

*E-mail:* orhandiskaya@mersin.edu.tr

<https://orcid.org/0000-0001-5698-7834>

*E-mail:* hmenken@mersin.edu.tr

<https://orcid.org/0000-0003-1194-3162>